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Topic: Converting measurement of area, area and perimeter. \ OE ?’Q
While working with areas it sometimes essential to convert between units of measure, for

example changing from square yards to square feet and so forth. Convert the areas below to
the desired measure. (Hint: area is two dimensional, for example 1 yd2= 9 {2 because 3 ft along , 2
—_— v AR

each side of a square yard equals 9 square feet.) ‘ﬂ d
1. 7ydz= ?ft2 2. 5ftz= ?in? 3. 1milez=7? fﬂ |y
'1 =
: DEE, 1A 0™ =720 1n* 21,618 400 H V5,

4, 100m2=? cm ftz—w 6. 96in2= ?ft2
"‘““’:"“" 4) \@2’_(" \0oco =|,000,00DCM™

picﬁ {')‘l;n{itlons and Parabolas, Symmetry and Parabolas

7a. Graph each of the quadratic functions. 5
flx) =x?

gx)=x*-9 .

h(x) =(x+2)2-9 ’

8.50x11.00 in 4 | m

I = 1000 >
lyd =™
= Wi
Imi™ =27 ¢ 8 400y

Nov 8-11:45 AM



SM2-3.6 Curbside Rivalry - A5.notebook November 08, 2016

| SM2-Module 2 SE.pdf - Adobe Acrobat Reader =] \

File Edit View Window Help F

Home Tools SM2-Module 2 SE.... SM3H-Module 3 S... | |
BRQ OO s/ KM HO® = F BET © ¢
12, fG) =x2—6x4£9)= (X -2 Yx-3 ) 13. g()=(x—-2)?-3

2 (A0 0

0" - 09 E

a fO=_9%_ ) \ a g0)=__
P o P
b. £(=3) = Bo_ (q’)%l%‘h% bog(5) =
c. f(x)=0, x:& O:(X'??)(x'a) c. glx)=0, x=___

d. f(x)=16, x = 1:' X:B'B d. g(x)=—3, x=___
l?: X 2-lox+9
' ~lo

el 1} @ «
G Al B BICE D)

14, F(x) = (x +5)? m 15, g)=—(x+1)?+8

A £ —Q e — A Al — A e —
8.50x11.00 in 4 | m

a f(0)=___ a.g(0)=___
b. f(-=2)=__ b.g(2)=____ [
L
c. f(x)=0, x= c. g(x)=0, x= E
§
- &
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Just to make it a little easier to talk about some of the features that relate to the intercepts,
let's name them with variables. From now on, when we talk about the distance from the line of
symmetry to either of the x intercepts, we'll call it d. The diagram below shows this feature.

We will always refer to the line of
symmetry as the line x = h, so the two
x-intercepts will be at the points
(h—d, 0) and (h + d, 0).

3. So, let's think about another function: f(x)= x'—6x

d.

0

Graph the function by putting the equation intg gy 8 2
vertex form. \

(x-3)"-5

What is the vertex of the function? '
(%~ '

What is the equation of the line of symmetry? -8.98

Xz % EEENEENEERERE

What do you estimate the x-intercepts of the function

to be? X:O.%, 5,&

What do you estimate d to be? .
a.lish

What is the value of f(x) at the x-intercepts?

£(0)=0

Using the vertex form of the equation and your answer to “f” above, write an

equation and solye it to find the exact values of the x intercepts.

=(x-3)*-5

What is the exact value of d7

Use a calculator to find approximations for the x-intercepts. How do they
compare with your estimates?
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4. What about a function with a vertical stretch? Can we find exact values for the x-

intercepts the same way? Let's try it with: f(x)= 2x*—8x+5.

p

Graph the function by putting the equation into

2(x-3) 2

What is the vertex of the fungtion? )
What is the equation of the ITne -:]fls metry?

-
-

vertex form.

-8.98

What do you estimate the x-intercepts of the

function to be? O % 4‘ ’6 2

What do you estimate d to be?
l. &

What is the value of f(x) at the x-intercepts?

£00=0

Using the vertex form of the equation and your answer to “f” above, write an

equation and solve it to find the exact values of the x-intercepts.

Oz 2(x2)*3

What is the exact value of d?

d=\%

Compare your solution to your estimate of the roots. How did you do?

5. Finally, let's try to generalize this process by using: [(x)= ax” +bx + ¢ to represent

any quadratic function that has x-intercepts. Here's a possible graph of f(x).

Start the process the usual ﬁray by putting the equation into vertex form. It's a
little tricky, but just do the same thing with a, b, and ¢ as what you did in the last
problem with the numbers.

What is the vertex of the parabola?

What is the line of symmetry of the parabola?

Write and solve the equation for the x-intercepts just as you did previously.
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Blank pg. before pa.H

axz+bx+(/
(Yuodratic Formulp :
—b+\|b -Yac
- A= 2a

® x*+0x-80=0 { /
\/ ‘
X=F
c*—"go \= -lD+J(\o) -4(1)¢-89

a(1)
[ ey

‘OWlDOw,zo | |D+W5 \Dt“‘Dg
o_xoc’fo‘“"

\o+ar\{|o+arﬁ~l°’7@g
o 5 4 152

(51’0) ( \%2, D)
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Homework

Finish 3.6 "Ready, Set, 60"

Mar 28-9:36 AM
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